. Question Booklet Series - C
B f=rare

AT W 3T fasmer
GOVERNMENT OF INDiA: DEPARTMENT OF SPAGE
S 3ULE deg, AaTe[e
ISRO SATELLITE CENTRE, BENGALURU
qfr&ﬂ tff\i?mn'est Booklet
odrerT featias / Date of Witten Test 20.11.2016 9T / Sunday)
T / Trade FreHHA-a (FHTATT)
Draughtsman-B (Mechanical)

F{1eafer / Duration of Written Test 12.30Hrs to 14.00Hrs (90 Minutes)
g2t T HEAT / No. of questions : 60
BeeR et H qrol I HedT (Fa ¥ 9id) 14
No. of pages _in the booklet {including cover page)

' qRETTiERT & v aﬂ'a'Qfllnst_ructions_to the Candﬁ]ates

1. W e, SRR & g & §) weh ol T grai Wt vest g e
The question paper is in the form of test booklet. All candidates will be assessed on identical questions.
2, omahzwﬁéaz’raﬁrtméamfomaﬁzwmﬁaﬂrmmﬁﬁn@mmﬁ%ﬁvmmm

FEA (AT AT =AdT) FT ITHET F:)
Read the instructions on the OMR $heet carefully. Use only Ball Point Pen (Black or Blue) for writing/ shading/ bubble on
OMR sheet and marking your answers. -

3. Tawt & fv, W TR B wd e R T OMR e R ST T 6 @EST 9 AE ONR dhe
fgor F Howr Fw iR 7 AT & aur wds g = 3 urw @ o)

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On completion of
the test tear the OMR Answer sheet along the perforation mark at the top and handover the oragmal OMR answer sheet {o

the invigilator and retain this duplicate copy with you.
4, Wﬂﬁ%mﬂ%%ﬂy—%ﬁt@mmmﬁﬁﬁﬂ?mwﬁm(a),(b),(c)&i’h‘ (d) fgw amw §
5 ¥ Fad UH & 9 gn)

Each objective question is provided with a text and/or figures wherever applicable with multlple answer choices (a), {b),
{c) and (d). Only one of them is correct.

5. v ardfrss meel & WA e g W Sea & foT i diw Rw A, sew o & o e AR, e s &
folw we 37 FeT Smee) fdt o & T agSecl 4T dIed Sec AR ST :

All objective type questions carry.equal marks of THREE for a correct answer, ZERQ for no answer and. MINUS ONE for
wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. wear qftasr & gifeel T I F fhAn W AT Bar ¢ D Faffee fr arn §, o9 OMR o T, e wur g
7 forgar Ffaard &1 ¥ 7 FE W, Sraw- TR F ApiwT =g Rhar s

Question booklets have been marked with A or B or C or D on the right hand top comer, which is mandatary to be written
on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

7. GiEAE H SUORH Felg I INGRAFAT F I[UR Fed FA F AU START Fhar o wwar & e @ e 78 R

SITEAT]
Space avallable In the booklet could be used for rough work, if required. No separate sheet will be provided.

8. SRR ofie W G ) U ved, Wl B SeRNT e T qfea A e g ademet F A
TP B RN T gy

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet. Candidates
should sign against THEIR names cnly.

2. qﬁaﬂasama#(1)mﬁﬁﬁfﬁﬂqﬂmﬁaw@)a@ommaﬁzaﬁ¢(3) v o, flwE wr Ay

T §1 R of TR o 39 vt awx 7 o 9|
At the end of the test (1} Written test Gall Letters(s) with photograph pasted on it {2) Original OMR Answer Sheet
and {3) Question Paper shall be returned to the Invigilator and shall not be carried by the candidate under any

circumstances.




PM.01 (Draughtsman Mechanical) : Series — C

T, g 2T / Question IcaX Tahed
Q. No Answer Options
) : . a) mafafy & w@r
dar 3w fawgfea @O @ @ gEe Line of symmetry
1 _ . foreRd Wt & forw fhar sar & b) Feg @ / Center lines
Long-dashed dotted narrow line is used to o) T geat / Pitch circles
vepresent 7 - d) 3w @i / All the above
dosa smE gR ¥ Rfre s | 2) e / Symbol
5 o & ‘ b) @ge / Perspective
Welding drawings are a special type of|¢) it / Assembly
_ drawings? d) F=aHAfes / Isometric
4) TAECGR Yl 817
' ' : Parallel straight edge
IRONE TRET 7 TIFd 3THUT F F5 307 | by 45 &l By
3 ffaTaa & aFAfad #:d & 45 degree triangle
Several of the tools used in ftraditional | €) Tel TFoIT
draughting include the following: Circle template
d) IUiwd "
All of the above
wvs #, g # uE  aadier | gftear / Revolved
, | PrRE R e il ' 7 b) fRTRRT -/ Removed
In section, one quarter of the | ©) E‘—{Fﬁﬁr / Quarter
object is removed? ' d) 3 / Half
: a) J[ocl S&0T / hidden feature
T d9T oS, ag BN, ud UE R oar @us | b) gecf F hew / center of a circle
s afgd 3mfT Y@ BT & c) IO IHA F Frg 3HaT
A line drawn with a long section, short dash, center axis of a hidden cylinder
and another long section is a d) Fear &1 Seg
center of a radius
a) SWidga TF A FF T HLEAT
" . set the layer to Defpoints
H@%ﬁﬁ-@ﬁﬁﬁﬁ%ﬁﬂwﬁ by aftr e A wHaT T s
W W, T REE A R & 8 / sce the entire bounding
6 BT gl =fee area to hatch
When filling an area with a hatch pattern in ¢) HAT FY =re B
AutoCAD, the drafter needs to be able to »
: set Ortho on
' d) IS0 fis §g =¥
turn ISO grid off
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7. §. 92 / Question 3l Ao
Q. No Answer Options
@ vd THaRer & AT aRd™E Aee gEReE | a) SP 46
=Ry #rar ¥ b) BIS 41218
7 " —
Bureau of Indian Standard publication for line 3 %%1\49](3)(%14'21\4
and lettering is ?
Te WYl HUANE @ fhaar BRRE d | a) 360
TS e b) 180
g (1 R &7 e ¢) 270
A half-moon protractor is divided into how
d) 310
many degrees?
dfedhe &, @#fowm @A, wAela & | @) #edee / Mass
In AUTOCAD the MASSPROP command will | ¢ Sifes=sT &fed / Bounding box
provide information of solid body. | d) 39T §r / All of the above
der ufaeget qaRT uw @eq & oweg & a) dFehlfole / Orthographic
10 ' FEa § b) Hed/Perspective
Projection of an object by three views is known | ©) 3MSaIACS / Isomatric
as ? d) fad= / Oblique
AT SAAC ETUr W WefHd U YW a) SR/ Bdge
faaig =t 59 F HT I § b) T / Corner
1 Baseline dimensions are referenced from a|¢) 8e& / Datum
common ~ geometric feature known as a d) dest fiig / Point of reference
e FAcEd e dge & @ 41 3w | a) SF / Add
Ride HHERT F WS g GgFd HEds | b) giAge / Union
e giar & ¢) weee / Attach
12 The AutoCAD command used to combine two | d) wi& / Form
or more primitive shapes into a single complex
3-dimensional model is ?
a) T3 & MSAREE OF 9 S
set the grid to isometric _
VI a 5w W 98 b) oRT W ¥ 3F fégit dw de
3”3“”@‘ o ! FLAT
13 'Bai ft S EﬁtT ﬁ mi . dﬁ?—ﬁ _% , ~ set the current layer to Defpoints
: efore starting an isometric drawing in .
AutoCAD, the draughtsman needs to ¢) =g g}'q I 5
turn Object Snap off
dy 3t & d¢ wer
tarn Ortho off
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T H. g9 / Question 3eat faeey
Q. No Answer Options
a) ey fog / f@fos
Hedl et #, W UEH T 9] S b ;1?;51’1%}; point / horizon
14 | weia TR S & Station point
In perspective drawings, is placed ¢) WY SoteT / fRrT celeT
between the observer and the object. Lo .
Plane of projection / picture plane
d) & Y@r / Ground line
U e & FRufa a9 sud werd & seudd | &) wawadl / LMC
AT WIEATAT & F % 39 # WafdiaT | b) ~geAcH A / Smallest size
ToRaT STar & ¢) darFdfae AT / Actual size
15 The condition of a part when it contains the dy waEHd. / MMC
least amount of material is referred to as :
a) Yaley q¥dadsl
Portable documents
At @t & fre oaw oftadst 6 88 | b) T Welee seis
16 e ' CGIR 3@3%3 fr aar & A revision block
An accurate record of changes made to release | ©) 3T Iy @
drawings is tracked via The basic title form
d) HRERT 3MEA
Working drawings
0T FEr AT Ul § A, SI9 HOT Ud Y& | a) He / Adjacent
ol ¥ girafaa o FaE b) @ / Aligned
17 | Angles project true size, only when the plane | ¢) oigad / Perpendicular
containing the angle and plane of projection are d) waTeaT / Parallel
? .
T faar i foen vd FREIR gRd 9REe aer | a) @ W@r / Dimension line
hreefit garr ot &r o Y ger & | b) Twaror Wr / Extension line
18 is a line terminated by arrowheads, | ¢} &Reff ¥@r / Arrowhead line
h}dicatipg the direction and extent of a d) %=z @ / Centerline
dimension.
a) §ag UReHd e
UF Feig T AT Fd F AT giRd F Surface finish mark
9 |8 SR R S ¥ b) #MAT e / Machining mark
is used to indicate that a surface is to | €} GI&UHT HI& .
be machined. Roughness indicator
d) Coordinate mark / TH=aT FIw
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DM 01 (Draughtsman Mechanical) : Series — C

ues / Question

3cd] [aFeu

Answer Options

20

afsge sirer @7 AT 3 g &

The measured size of a finished part is

2)
b)

fader 3memg / Dimensioned size

“FUIEA HTATG / Production size

Hel AT / Basic size
aredfas AT / Actual size

21

21 |3, T UR o4l W™l @i 9By uE
=HFr Sl oo § Haf. {1 afy usy fr A
1 &4 & 3R olg e 8 gvern® ¥ &Y uisT AT
HRX gram

A hollow iron pipe is 21 cm long and its
external diameter is 8 cm. If the thickness of the
pipe is 1 cm and iron weighs 8 gm/cm®, then the
weight of the pipe is ?

3.6kg
36 kg
36.9 kg
3.696 kg

22

ECILGEEIGED

"D" AT Yo  H AN

gy

The measurement of architectural "D" size
paper is

)

a)
b)

1o

d)

24" X 36"
[8" X 24"
"X 17
34n X 22"

23

FIRRT IR 7 ygad O salw
# wfEAfd e AR

The ftitle block used on working drawings
should include the

@r &R/ line type

ofie &aT / sheet number
T He / layer set

IR T / all of the above

24

3iferhs ﬁ,WWHW-WW‘

INET gEa R e w@eRar §, T R
3YHIUT AT fohdT ST Thar &

In AutoCAD, a cylinder can be created by

drawing a rectangular shape, then by

tool.

goid / Revolve

3CANOT / Extrude

THd / Sweep

IRFT H § Fi5 o) 7@

none of the above

25

Rftse der & fow =@ A #

wiFafaa s

The thread note for a typical bolt will include
the

aerdl / material

sheg, YT / center line

g B GHE A

major diameter of the thread

IHHE gl / offset distance

26

G gegyaur @R &
forw At aPeaa: TgFT w07 8 §

In oblique sketches, the most commonly used
angles for receding lines are

15 3veyar 30 3ot
15 or 30 degrees

25 3rerar 30 fafemt
25 or 30 degrees
60 37ar 90 BT
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DM 01 (Draughtsman Mechanical) : Series — C

T. 9. g2 / Question Il faFed
Q. No Answer Options
60 or 90 degrees
d) 30 3rar 45 fafit:
30 or 45 degrees
I wF Y@ (15) v (-3,5) Feut & = |a) e g / Three units
yRf@a & arar & o s@dr fder @erg | b) 9w gide / Four units
27 1 grefr ¢) i Igfae / Five units
If a line is drawn between points (1,5) and (-3,5) | d) T& JfA< / One unit
then it’s absolute length is
a) IR IR UEUs
Project drawing management
b) 3curg 3@ IRt
28 PDM & fOT whilaA § Product drawing manipulation
PDM is the acronym for ¢) IcUIG BCF Y
: - Product data management
d) aR&EaT ger afErasT
Project data manipulation
T SN A TR T S Seeld 3w @ gt | a) @w / Lead
Gk ' b) &% / Pitch
29 The distance a screw thread advances axially in | ¢) &= / Tumn
one turn 18 d) #Fe / Crest
1 a) &faS 3§ T
placed horizontally
faftse Raxor ofe = vy faww b) dres fawer 7
30 BT AT in bold text
The text used on a typical detail sheet should be | ¢) FRIHeIlcHS vy o A
in an architectural text style
d) IR F F B o AT
none of the above
U 3T T FE vd T & & @7 siaw 23 [ a) 1520 m?
H. ¥ Tl sgEr g 206 L §, o gEe b) 24201“2
S ¢) 2480 m
P L ' d) 2520 m?
The difference between the length and breadth

of a rectangle is 23 m. Ifits perimeter is 206 m,
then its area is__

Page 6 of 14 |
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g2t / Question

EGRSCETS
Answer Options

32

aasﬁ.m.ﬁaq‘rgﬁ?ﬁ%,trﬁﬁwmaﬁﬁ
150 &1 x 150 #. dr  ofF W f@Rar § @8
grar &

When a 5 cm of rain falls, the volume of water
that falls on 150 m x 150 m of ground is

a)
b)
©)
d)

112.5 cum
1125 cum
11.25 cum
11250 cum

33

O U9 AfAFed TR ITROT FO¥q A
T AT Hlh, AHHFT diwar H

FH B W HEH B Thal § 3R IcIEHhdr

Rt Y faeed HT R §

Using as a communication and

design review tool, can help shorten the design
process and eliminate productivity barriers.

aerg gie=e
Development plans
GaTed axdidsl Bige
Portable document files
Seteic U9 A

The Internet and e-mail
3 a1 / Gantt charts

34

Afehs #, CHUT GaNT FH IEYT F
TART ¥ THT NG 8Fhd F @A H TH
Sog T § '

In AutoCAD, one quick way to view the entire
drawing area is to use the Zoom command by

typing

SHOWALL 289 & Ued -
type SHOWALL enter

7 TE9 & A Tl

type 7 enter A enter

Z TR e UK B X
type 7 enter E enfer

ALL 289 a¥& U

type ALL enter

35

ks A, uw 30 B Wr s s gg
Fmafgres gdrg GEAGT UOTel FT GEET Fdh S
INEF & F Giad Wer & Ada fig 4 45
fefrg  @mm

In AutoCAD, using the Relative Polar
Coordinate System to add a 30 mm line that is
45 degrees froim the. end point of the Jine
created above the drafter would

d)

@30<45 2139 +{ Ud Ul gand
type @30<45 and enter :
30 TBY F dF T F 39UA
T gy

type 30 back slash and enter

30 €189 Y BRAS T F IWA
type 30 forward slash and enter
30 BT L A 3ifce f&g & war
T % T eRefaE s
{EHT3E T 9T FL & TIE
1

type 30 and try to use the
Dynamic Input readout to find
the end point
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< 4

g% / Question

GIT3Ad iaal("q

Answer Options

36

TR 6 AL o T 4 A @iy ol v S 7 ]
Hr 25 Tl fr g 7 g §1 3% Tdg @
T TR g |

A water tank 6 m long and 4 m wide contains

water up to a depth of 1 m 25 cm. The total area
of the wet surface is ‘

a)
b)
c)
d)

N

49 m
50 m
25 m
55m

S-S R S

37

frocl e, Aige, rmar anfy gev wanw faem
HiOF FEET @ aEgI dT FFeH ¥ U
e At &ar §

allows the designer to conceptualize

objects more easily without having to make
costly illustrations, models, or prototypes:

HTIET HEAT el T ATor
Computer-aided manufacturing
HCYET HETTT Aol HfHehed
Computer-aided design

HOYET eI Yo AR
Computer-aided engineering
HOYET HEHEAT TI°d 3T 9%9
Computer-aided prototyping

38

Uw 3iferbs ed S qF ANFAT awg F HefHa
Lt & 0 3mws wiswr A wualRa B §

qA HEATFAFER 350 Tl 3Ea g # |

gaHE foRar o Hahar & gie &

An AutoCAD term that refers to a pre-drawn
object which is stored in a drawing file and can
be inserted into any other drawing file as
needed is a

sdTd / Block

9% / Brick

&l / Balloon

Ied A ¥ Fg T TET

none of the above

39

UF el BT Yool Hlad AT REH H AR
forg wafdd s waw RS eI & gsar
When creating a block the drafter needs to pay

particular attention to selecting a base point
because it determines the

$ATAT / Scale

ol 10T / rotation angle
feders fawg / insertion point
gut / color

40

T Bg & g AT TR Rl IR @ RS
 gar & W e v uw
el & Y i ucd w0 & v fer S
%. . .

' is a conical-shaped recess around a

hole, often used to receive a tapered screw
head.

d)

&9 / Boss

T / Spot-face

gfa f@fewelr / Counter-bore
gfa gidr / Countersink
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q. . e / Question Fel Tashed
Q. No Answer Options
AG TG F Fea F B A, el F e | a) 30°
g1 [P B e E)) i
In order to cut mild steel, the cutting angle of d) 60°
chisel should be
SRt 54 a) dwET / Graphite
0 b) f&fasReT / Silicon
ST 1@"?1 Whlch of the followmg is used in o) N / Charcoal
benelis d) wIERRE / Phosphorous
a) TGS 3THT & TH THF
_ one side of the actual size
TH WEIdl F gfaured gumelr &, W | b) AT IET F UF RE
43 HEAT FF AT & Sl & one side of the nominal size
Tn a bilateral system of toletance, the tolerance | ©) FFATdH AT & il TIw
is allowed on both sides of the actual size
d) AR 3TAT F e RE
both sides of the nominal size
AT, HAW, S THFSR T gurdar 1 [ a) T e / feeler gauge
Farer Sitg T S gehar § b) wdf aifet / slip gauge
44 The accuracy of micrometers, calipers, dial | ¢) gerer a17sT / ring gauge
indicators can be checked by a 1+ d) wenT Wi / plug gauge
TH WA 4k &Amd H odfaudar g A, ofg | a) 40%
0
TP YAF TEE F 20% GanT de1s Sal & ar E)) jﬁ;’
5 |——— TTE d) 46%
The percentage increase in the area of a
rectangle, if each of its sides is increased by
20% is
a) Jfeiee wa FERee
oxygen and hydrogen
7 b) sifeeirer, erégie, SRhfeda Td
faffiesr g & desa # gyFd I CETarcr]
46 | AT HE oxygen, hydrogen, acciylene and
The gases used in different types of welding nitrogen
would include c) itadiewr, vEifeels vg 3w
oxygen, acetylene and argon
d) 3ierdisit vd wehfeela

oxygen and acetylene
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9. . 92T / Question 3ca ddheq
Q. No Answer Options
TaEt ¥ @t @ oy ¥ B e | @) 9% / Divider
7 | o T ‘ N b) HAET / Scale
is used to check the squareness of | ©) grgadt / Trysquare
surfaces. d) @dgamer / Surfacgauge
uF Y 25 e, 12 30, e vd 6 ot wrewr &1 | a) Rs. 4560
SO QaRt W e T & e e an g | D) Re 4980
45 |9 LS T & a9 Ry sess
A tank is 25 m long, 12 m wide and 6 m deep.
The cost of plastering its walls and bottom at
7.5Rs. per sq. m, is
a) Sig I FHalgd Fellell
' ‘ Strengthen the joint
- we % far fEfed Sigh W | b) toel @ REReT Jed
49 iR v wae fasafag far aar & Avoid tearing of plates
Caulking and fullering is performed on riveted | ©) &ROT el
joints to Prevent leakage
d) 39ed |
All of the above
a) 3 €eiF / forward stroke
b) aodT ¥ele / return stroke
sq | T F el urg B e S ¥ | o) et ser od e B
A file removes the metal during both forward and return strokes
dy 39 & ¥ S5 o 7
nene of these
a) HB
51 fRrafeifiad # & @le o1 ofwe 95 FoRaT §2 | b) H
Which of the following pencil lead is hardest? |c¢) B
d) F
' a) dide / Brass
sy il:r’a;?:r’ T o ﬁ&r"?ﬂ?j aj ___?Eb??’f g b) @ / Bronze
v of copper, tin and zme is known as ¢) g / Gun metal
d) Nuntz @1 / Nuntz metal
a) TIET I >Glear
ST 9O GERT TG 1 HGmor viscosity of ink
53 | AT T & | b) HRPRT AT e
The absorption of ink by blotting paper capillary action phenomenon
involves . C) SANTEI o gait TIET  faator

diffusion of ink through the
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w97 / Question

IeaR adeT

Answer Options

d)

- blotting

e forar

siphon action

54

FERAT U U #T qur e ¥ FAwd aoig @

Tw® o
The hardness is the property of a material due
to which it .

d)

dg3t # FNTAS frar ST weher §
can be drawn into wires

3T T F Fclel BT ThAT &
can cut another metal

WWWE‘FW'W
g ¥

breaks with little permanent
distortion

Ul Wl 7 de sryar goier
HART ST Hhal &

" can be rolled or hammered into

thin sheets

35

3 U AT RRaT S ¥

Resistance is measured in

gy / Henries

- 37 / Ohms

aie [/ Watls
gree / Volts

56

| 9B ST @ A

T Felg
grar &

The heating of the large transformer is due to

AT YIRT sl d9e0 91T
the heating effect of current alone
A ey g

hysteresis loss alone
glel URT T Jr9e gaa ud
Ao grw

both the heating effect of current
and hysteresis loss

HedEd A g woehrer

intense sunlight at noon

57

FON ST I 7g @ell=t & T gl 3UAR
gfsram arer &

The heat treatment process used for softening
hardened steel is

ST / Carburizing
JHTHTRIYT / Normalizing
3fsilele / Annealing
G / Tempering

58

e werd 7 Aol e g @ ag s
TarRl f@eqor & @Y HAT gar & @
FEd ©

The property of a material due to which it

breaks with little permanent distortion, is called

d)

31'?_]3FIT { Brittleness
d=adrt / Ductility
FTEndaedar / Malleability
CATESHAr / Plasticity
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9. ¥, 99 / Question 3ot fasFeq
Q. No Answer Options
o9 5T & HeanHt & Ao HA, (6 % 10%) (5 % | a) 3><1088
59 § —— & . ¢) 300 x 10°
When these two numbers are multiplied, (6 x| 7
3 5 . } 3000 x 10
10%) (5 = 10°), the result is .
afy w30 Heh ¥ @ 400 W Hr ufda @ |a) 13kWh
- 3 ATy ' gair ey | D) 133 kWh
.?)T?f e - c) 12kWh
60 | @ d) 12.3 kWh

If you used 400 W of power for 30 hours, you
have used .
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